Fite Yabis EETL—F HETL—F
SHERS A iy GF G EH HR HR-L HR-G HR-F GHS GH-K HR-S
al= 15O No. JIS No. EwE pik: i i iz | MAEAE | MASRE) | B S [
SHIRERE ISO 13468-1 JISK7361-1 3mm % 92= 92= 9= 2= 2= 92= 92= 9= 9= 902=
AR 1SO 14782 JISK7136 3mm % =03 =03 =03 =03 =03 =03 =03 =03 =03 =03
[ ISO 489 JISK7142 nd = 1.49 1.49 1.4 1.49 1.49 il 1.49 49 1.49 4
5 3R MR ISO 527-2 JISK7161 1A/1 MPa 3300 3300 3300 3300 3300 3300 3300 3300 3300 3300
53RERE ISO 527-2 JISK7161 1A/5 MPa 67 70 75 77 77 78 65 62 60 77
33RO 9 ISO 527-2 JISK7161 1A/5 % 3 4 7 5 5 7 3 2 2 5
it S 1SO 178 JISK7171 = MPa 3300 3300 3300 3300 3300 3300 3300 3300 3300 3300
i:[pgieEAnyal 1SO 178 JISK7171 = MPa 108 110 125 128 114 126 100 90 80 14
v )VE—EgRE /v FiEL 1SO 179 JISK7111 1eU KJ/m? 19 20 23 22 22 23 20 20 19 22
/)y FEE 1SO 179 JISK7111 TeA KJ/m2 13 13 14 14 14 14 13 13 12 1.4
w4y z)VEEE 1SO 2039-2 JISK7202  MR&—)U = 94 98 99 102 103 99 102 100 97 103
HEhHEE 7 Z—ILE 1SO 75-2 JISK7191 1.80MPa @ 86 93 100 101 101 94 101 95 95 101
EAv FYLRE ISO 306 JIS K7206 B50 e 92 99 101 110 110 103 108 104 103 110
MFR ISO 1133 JISK7210  230°C 373N g/10min 15 8 13 2 24 0.6 5.5 10 22 24
5= i JISK7123 = J(g-°O) 15 15 55 15 1.5 15 15 5 1.5 15
IR ARIREK i JISK7197 = /e 6X105 = 6X105 = 6X105 = 6X105  6X105 = 6X105 = 6X105 = 6X105  6X105 6X105
ik i JISKA1412 = W/ (m-°C) 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2
KEIETE = JISK6911 & Q >1016 >101 >1016 >101 >101 >101 >1016 >101 >1016 >101
AREIETIER = JISK6911 = am >1013 >101 >101 >101 >1013 >1013 >101 >101 >1013 >101
MeigmiER & = JISK6911 4kV/sec MV/m 20 20 20 20 20 20 20 20 20 20
BEX > JISK6911 60Hz = 4 4 4 4 4 4 4 4 4 4
BE 1SO 1183 JISK7112 & g/cri 1.19 1.19 1.19 1.19 1.19 1.19 1.19 1.19 1.19 1.19
M7k =R (23°C) ISO 62,method 1 — 24 hr % 03 03 0.3 0.3 03 03 0.3 0.3 0.3 0.3
RRFANESR 1SO 294-4 JISK7152-4 = % 02~06 02~06 02~06 02~06 02~06 02~06 02~06 02~06 02~06 02~06
Rl uL94 — = class HB HB HB HB HB HB HB HB HB HB
HRBERE = JISK6911 = cm/min 3 3 3 3 3 3 3 3 3 3
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